30. U1 verbs, il

See if you can list the four twists of the ut verb from memory. (Consult the grammar if
you have to.)

1. In the present tense, |11 verbs reduplicate the initial letter and separate the
reduplicated consonant with an iota.

2. Uwverbs use slightly different endings in the present active indicative.

3. The stem vowel of the |11 verbs changes a lot. It can shorten, lengthen, or drop out
completely.

4. Most of the |11 verbs use ko instead of coe to indicate aorist tense. These are called
“kappa aorists.”

Translate the following sentences (which contain various forms of tionuu).

1. TV Yoxnv TIONUL e TAOV TpoPdTwv.
=1 lay down my soul for the sheep. e
2. [100 tebdeikate ;
Where
Where have you laid him?
3. ol pabnrat nAOov kad Mjpav 16 TTHUA
corpse
Kal EOnKav £V UVNUELW.
His disciples came and took his corpse and laid it ti(;lmz tomb.
4, Onow o mvedud il :

I will place my Spirit on him.
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Vocabulary
eyt

el nunv E00OLLOL
Iam I was I will be
el e gon
you are you were you will be
£GTLV nv €otol
he/she/itis he/she/it was he/she/it will be
EOLLEV NUEV eoouedo
we are we were we will be
E0TE nte £0e00¢e
you (all) are you (all) were you (all) will be
ELov ﬁGOCV E00VTON
they are they were they will be
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